

Title	Stein-type estimators for parameters in truncated spaces
Sub Title	
Author	Chang, Yuan-Tsung
Publisher	慶應義塾大学工学部
Publication year	1982
Jtitle	Keio Science and Technology Reports Vol.35, No.11 (1982. 12) ,p.185- 193
JaLC DOI	
Abstract	We give Stein-type estimators for p-normal means when their lower bounds are given, for scale parameters of p independent gamma distributions when their upper bounds are given, and for means of p independent Poisson distributions when their lower bounds are given. Each of the Stein-type estimators is the shrunken of the estimator whose i-th component is an admissible estimator of the corresponding parameter suggested by Katz (1961), and has uniformly smaller sum of squared errors risk than the latter. This shows that a set of admissible estimators may not be admissible in simultaneous estimation in truncated parameter space.
Notes	
Genre	Departmental Bulletin Paper
URL	<a href="https://koara.lib.keio.ac.jp/xoonips/modules/xoonips/detail.php?koara_id=KO50001004-00350011-0185">https://koara.lib.keio.ac.jp/xoonips/modules/xoonips/detail.php?koara_id=KO50001004-00350011-0185</a>

慶應義塾大学学術情報リポジトリ(KOARA)に掲載されているコンテンツの著作権は、それぞれの著作者、学会または出版社/発行者に帰属し、その権利は著作権法によって保護されています。引用にあたっては、著作権法を遵守してご利用ください。

The copyrights of content available on the KeiO Associated Repository of Academic resources (KOARA) belong to the respective authors, academic societies, or publishers/issuers, and these rights are protected by the Japanese Copyright Act. When quoting the content, please follow the Japanese copyright act.

## STEIN-TYPE ESTIMATORS FOR PARAMETERS IN TRUNCATED SPACES

YUAN-TSUNG CHANG

Department of Administration Engineering, Keio University

(Received November 16, 1982)

### ABSTRACT

We give Stein-type estimators for  $p$ -normal means when their lower bounds are given, for scale parameters of  $p$  independent gamma distributions when their upper bounds are given, and for means of  $p$  independent Poisson distributions when their lower bounds are given.

Each of the Stein-type estimators is the shrunken of the estimator whose  $i$ -th component is an admissible estimator of the corresponding parameter suggested by Katz (1961), and has uniformly smaller sum of squared errors risk than the latter. This shows that a set of admissible estimators may not be admissible in simultaneous estimation in truncated parameter space.

### 1. Introduction.

Suppose that a  $p$ -variate random variable  $\mathbf{X}$  is normal by distributed and has a mean vector  $\boldsymbol{\mu}=(\mu_1, \dots, \mu_p)$  and the identity covariance matrix  $I$ . This assumption is denoted by  $\mathbf{X} \sim N(\boldsymbol{\mu}, I)$ . Discussing simultaneous estimation of the mean vector  $\boldsymbol{\mu}$  under the sum of squared errors loss, James and Stein (1961) introduced an estimator, called Stein-type estimator, which has uniformly smaller risk than the usual estimator. Since then, the Stein-type estimator has been discussed by many authors. The author (1981) discussed Stein-type estimators when some constraints on  $\boldsymbol{\mu}$  of linear inequalities are given in advance and gave Stein-type estimators for  $\boldsymbol{\mu}$  for several cases by shrinking maximum likelihood estimators (MLE).

Katz (1961) gave a general formula of admissible estimator for mean of an exponential family of densities when a constraint is given on the mean. He applied the general formula to obtain an admissible estimator for the mean of the normal distribution and Poisson distribution. If  $X$  is a normal variable with mean  $\mu \geq 0$  and the variance 1, then

$$\hat{\mu}(X) = X + \phi_0(X), \text{ where } \phi_0(X) = e^{-X^2/2} \int_{-\infty}^X e^{-t^2/2} dt, \quad (1.1)$$

is an admissible estimator of  $\mu$ . If  $X$  is Poisson variable with the mean  $\lambda$  and a

constraint  $\lambda \geq a$  ( $a > 0$  is a fixed known constant) is given on  $\lambda$ , then

$$\hat{\lambda}(X) = X + \psi_a(X), \text{ where } \psi_a(X) = a^X e^{-a} \int_a^\infty \lambda^{X-1} e^{-\lambda} d\lambda, \tag{1.2}$$

is an admissible estimator of  $\lambda$ .

In this paper we will construct Stein-type estimators based on the admissible estimators by Katz. In Section 2, we give some Stein-type estimators when  $\mathbf{X} \sim N(\boldsymbol{\mu}, I)$  and constraints  $\mu_i \geq 0, i=1, \dots, p$ , are given. In Section 3, we apply the Katz's general formula to a gamma distribution with known shape parameter  $\alpha$  and unknown scale parameter  $\beta$ , with constraint  $0 < \beta \leq a$ . Using this admissible estimator we give a Stein-type estimator for  $(\beta_1, \dots, \beta_p)$ , when  $X_1, \dots, X_p$  are independent gamma random variables with shape parameters  $\alpha_1, \dots, \alpha_p$  and scale parameters  $\beta_1, \dots, \beta_p$  such that  $0 < \beta_i \leq a, i=1, \dots, p$ . In Section 4 we give some Stein-type estimators for  $(\lambda_1, \dots, \lambda_p)$  when  $X_1, \dots, X_p$  are independent Poisson variables with means  $\lambda_1, \dots, \lambda_p$  such that  $\lambda_i \geq a, i=1, \dots, p$ .

**2. Stein-type estimators for multivariate normal means when lower bounds for unknown means are given.**

Suppose that  $\mathbf{X} \sim N(\boldsymbol{\mu}, I)$ , where  $\mathbf{X} = (X_1, \dots, X_p)$ ,  $\boldsymbol{\mu} = (\mu_1, \dots, \mu_p)$  and  $I$  is the identity matrix. From an observation of the random variable  $\mathbf{X}$ , it is required to estimate the mean vector  $\boldsymbol{\mu}$  simultaneously. We try to improve an estimator of  $\boldsymbol{\mu}$  with the  $i$ -th component  $X_i + t(X_i), i=1, \dots, p$ , where  $t(\cdot)$  is a non-negative real valued function. If

$$t(x_i) = \begin{cases} 0, & \text{if } x_i \geq 0, \\ |x_i|, & \text{if } x_i < 0, \end{cases}$$

$X_i + t(X_i)$  is the MLE of  $\mu_i$ , and if  $t(x_i) = \phi_0(x_i)$  in (1.1)  $X_i + t(X_i)$  is an admissible estimator of  $\mu_i$ .

**Theorem 1.** Suppose that  $\mathbf{X} \sim N(\boldsymbol{\mu}, I)$  and that constraints  $\mu_i \geq 0, i=1, \dots, p$ , are given. Let two estimators  $\boldsymbol{\delta}^0(\mathbf{X}) = (\delta_1^0(\mathbf{X}), \dots, \delta_p^0(\mathbf{X}))$  and  $\boldsymbol{\delta}^1(\mathbf{X}) = (\delta_1^1(\mathbf{X}), \dots, \delta_p^1(\mathbf{X}))$  of  $\boldsymbol{\mu}$  be defined by

$$\delta_i^0(\mathbf{X}) = X_i + t(X_i), \quad i=1, \dots, p,$$

and

$$\delta_i^1(\mathbf{X}) = \begin{cases} X_i + t(X_i) - \frac{cX_i}{\sum_{j=1}^p X_j^2}, & \text{if } X_j \geq 0, j=1, \dots, p, \\ X_i + t(X_i), & \text{otherwise,} \end{cases} \quad i=1, \dots, p.$$

In simultaneous estimation for  $\boldsymbol{\mu}$  under the sum of squared errors loss,  $\boldsymbol{\delta}^1(\mathbf{X})$  has uniformly smaller risk than  $\boldsymbol{\delta}^0(\mathbf{X})$  if  $p \geq 3$  and  $0 < c < 2(p-2)$ .

*Proof:* Let  $S = \{\mathbf{x} = (x_1, \dots, x_p) | x_i \geq 0, i=1, \dots, p\}$ . The difference of risks of  $\boldsymbol{\delta}^0(\mathbf{X})$  and  $\boldsymbol{\delta}^1(\mathbf{X})$  is given by

$$\begin{aligned} \Delta R = R(\boldsymbol{\delta}^0, \boldsymbol{\mu}) - R(\boldsymbol{\delta}^1, \boldsymbol{\mu}) &= \int_S \sum_{i=1}^p \left[ \frac{2c(x_i - \mu_i)x_i}{\sum_{j=1}^p x_j^2} \right] f(\mathbf{x}, \boldsymbol{\mu}) d\mathbf{x} \\ &+ \int_S \sum_{i=1}^p \left[ \frac{2ct(x_i)x_i}{\sum_{j=1}^p x_j^2} \right] f(\mathbf{x}, \boldsymbol{\mu}) d\mathbf{x} - \int_S \frac{c^2}{\sum_{j=1}^p x_j^2} f(\mathbf{x}, \boldsymbol{\mu}) d\mathbf{x}, \end{aligned} \quad (2.1)$$

where  $f(\mathbf{x}, \boldsymbol{\mu})$  is the probability density function of  $N(\boldsymbol{\mu}, I)$ . From the definitions of  $t(x_i)$  and  $S$  the second term of (2.1) is non-negative. Integrating the first term of (2.1) by parts with respect to the  $i$ -th component of  $\mathbf{X}$ , we have

$$\int_S \sum_{i=1}^p \left[ \frac{2c(x_i - \mu_i)x_i}{\sum_{j=1}^p x_j^2} \right] f(\mathbf{x}, \boldsymbol{\mu}) d\mathbf{x} = \int_S \left[ \frac{2pc - 4c}{\sum_{j=1}^p x_j^2} \right] f(\mathbf{x}, \boldsymbol{\mu}) d\mathbf{x}.$$

Therefore, provided that  $p \geq 3$  and  $0 < c < 2(p-2)$ ,

$$\Delta R \geq \int_S \left[ \frac{2pc - (4c + c^2)}{\sum_{j=1}^p x_j^2} \right] f(\mathbf{x}, \boldsymbol{\mu}) d\mathbf{x} > 0.$$

Q. E. D.

Theorem 1 shows inadmissibility of the MLE of  $\boldsymbol{\mu}$  and of the estimator whose  $i$ -th component is Katz's admissible estimator of  $\mu_i$ , in simultaneous estimation of  $\boldsymbol{\mu}$  under the constraints  $\mu_i \geq 0, i=1, \dots, p$ .

The component  $\delta_i^1(\mathbf{X})$  is the shrinkage of  $X_i + t(X_i)$  towards the origin by  $cX_i / \sum_{j=1}^p X_j^2$ , when  $X_i \geq 0, i=1, \dots, p$ . This quantity depends on  $X_i$  but not on  $t(X_i)$ .

This suggests another type of improvement of the admissible estimator  $X_i + \phi_0(X_i), i=1, \dots, p$ .

**Theorem 2.** Suppose that  $\mathbf{X} \sim N(\boldsymbol{\mu}, I)$  and that constraints  $\mu_i \geq 0, i=1, \dots, p$ , are given. Let two estimators  $\boldsymbol{\delta}^N(\mathbf{X}) = (\delta_1^N(\mathbf{X}), \dots, \delta_p^N(\mathbf{X}))$  and  $\boldsymbol{\delta}^2(\mathbf{X}) = (\delta_1^2(\mathbf{X}), \dots, \delta_p^2(\mathbf{X}))$  of  $\boldsymbol{\mu}$  be defined by

$$\delta_i^N(\mathbf{X}) = X_i + \phi_0(X_i), \quad i=1, \dots, p,$$

and

$$\delta_i^2(\mathbf{X}) = X_i + \phi_0(X_i) - \frac{c(X_i + \phi_0(X_i))}{\sum_{j=1}^p (X_j + \phi_0(X_j))^2}, \quad i=1, \dots, p.$$

Then in simultaneous estimation of  $\boldsymbol{\mu}$  under the sum of squared errors loss,  $\boldsymbol{\delta}^2(\mathbf{X})$  has uniformly smaller risk than  $\boldsymbol{\delta}^N(\mathbf{X})$  if  $p \geq 3$  and  $0 < c < 2(p-2)$ .

*Proof:* The difference of risks  $\boldsymbol{\delta}^N(\mathbf{X})$  and  $\boldsymbol{\delta}^2(\mathbf{X})$  is given by

$$\begin{aligned} \Delta R = R(\boldsymbol{\theta}^N, \boldsymbol{\mu}) - R(\boldsymbol{\theta}^2, \boldsymbol{\mu}) &= \sum_{i=1}^p E \left[ \frac{2c(X_i - \mu_i)(X_i + \phi_0(X_i))}{\sum_{j=1}^p (X_j + \phi_0(X_j))^2} \right] \\ &+ \sum_{i=1}^p E \left[ \frac{2c\phi_0(X_i)(X_i + \phi_0(X_i))}{\sum_{j=1}^p (X_j + \phi_0(X_j))^2} \right] - E \left[ \frac{c^2}{\sum_{j=1}^p (X_j + \phi_0(X_j))^2} \right]. \end{aligned} \tag{2.2}$$

Integrating the first term of (2.2) by parts with respect to the  $i$ -th component of  $\mathbf{X}$ , we have

$$\begin{aligned} E \left[ \frac{2c(X_i - \mu_i)(X_i + \phi_0(X_i))}{\sum_{j=1}^p (X_j + \phi_0(X_j))^2} \right] &= E \left[ \frac{2c + 2c\phi_0'(X_i)}{\sum_{j=1}^p (X_j + \phi_0(X_j))^2} \right] \\ - E \left[ \frac{4c(X_i + \phi_0(X_i))^2}{\left[ \sum_{j=1}^p (X_j + \phi_0(X_j))^2 \right]^2} \right] &- E \left[ \frac{4c(X_i + \phi_0(X_i))^2 \phi_0'(X_i)}{\left[ \sum_{j=1}^p (X_j + \phi_0(X_j))^2 \right]^2} \right], \end{aligned}$$

Since  $\phi_0'(x) = -\phi_0(x) [\phi_0(x) + x] \leq 0$  the last expression is not less than

$$E \left[ \frac{2c - 2c\phi_0(X_i)(X_i + \phi_0(X_i))}{\sum_{j=1}^p (X_j + \phi_0(X_j))^2} \right] - E \left[ \frac{4c(X_i + \phi_0(X_i))^2}{\left[ \sum_{j=1}^p (X_j + \phi_0(X_j))^2 \right]^2} \right].$$

Therefore, if  $p \geq 3$  and  $0 < c < 2(p-2)$ , then

$$\Delta R \geq E \left[ \frac{2pc - (4c + c^2)}{\sum_{j=1}^p (X_j + \phi_0(X_j))^2} \right] > 0.$$

Q. E. D.

### 3. Stein-type estimators for scale parameters of independent gamma distributions when upper bounds for unknown scale parameters are given.

At first, suppose that  $X$  is a gamma variable with known shape parameter  $\alpha$  and unknown scale parameter  $\beta$ . From an observation of the random variable  $X$ , we construct an admissible estimator for  $\beta$  by using the Katz's general formula when the constraint  $0 < \beta \leq a$  is given on unknown parameter  $\beta$ .

The probability density function of  $X$  is given by

$$\beta^{-\alpha} x^{\alpha-1} e^{-x/\beta} / \Gamma(\alpha), \quad x \in (0, \infty).$$

Applying the Katz's theorem an admissible estimator  $\hat{\beta}$  of  $\beta$  is given by

$$\hat{\beta}(X) = X/\alpha - \xi_a(X), \quad \text{where } \xi_a(X) = (1/\alpha) \alpha^{-\alpha} e^{-X/\alpha} / \int_0^a \beta^{-(\alpha+2)} e^{-X/\beta} d\beta, \tag{3.1}$$

when the constraint  $0 < \beta \leq a$  is given.

Now, we consider the simultaneous estimation problem. Assume that  $X = (X_1, \dots, X_p)$  is a  $p$ -variate random variable, where  $X_i, i=1, \dots, p$ , are independent gamma random variables and  $X_i$  has known shape parameter  $\alpha_i > 1$  and unknown scale parameter  $\beta_i$ . This assumption is denoted by  $X_i \sim \text{ind Gamma}(\alpha_i, \beta_i)$ ,

$i=1, \dots, p$ . It is required to estimate  $\beta_1, \dots, \beta_p$ , simultaneously, when constraints  $0 < \beta_i \leq a, i=1, \dots, p$ , are given. Based on estimators  $X_i/\alpha_i - t(X_i), i=1, \dots, p$ , we construct Stein-type estimator for  $(\beta_1, \dots, \beta_p)$ , where  $t(\cdot)$  is a non-negative real valued function. If we put  $t(X_i) = \xi_a(X_i)$  then  $X_i/\alpha_i - t(X_i)$  is an admissible estimator of  $\beta_i$ .

**Theorem 3.** Suppose that  $X_i \sim \text{ind Gamma}(\alpha_i, \beta_i), i=1, \dots, p$ , and that constraints  $0 < \beta_i \leq a, i=1, \dots, p$  are given. Let two estimators  $\boldsymbol{\delta}^g(\mathbf{X}) = (\delta_1^g(\mathbf{X}), \dots, \delta_p^g(\mathbf{X}))$  and  $\boldsymbol{\delta}^s = (\delta_1^s(\mathbf{X}), \dots, \delta_p^s(\mathbf{X}))$  of  $(\beta_1, \dots, \beta_p)$  be defined by

$$\delta_i^g(\mathbf{X}) = X_i/\alpha_i - t(X_i), i=1, \dots, p,$$

and

$$\delta_i^s(\mathbf{X}) = \frac{X_i}{\alpha_i} - t(X_i) + \frac{c\alpha_i(\alpha_i - 1)X_i^{-1}}{\sum_{j=1}^p \alpha_j^2(\alpha_j + 1)^2 X_j^{-2}} + \frac{2c\alpha_i^3(\alpha_i + 1)^2 X_i^{-3}}{\left[\sum_{j=1}^p \alpha_j^2(\alpha_j + 1)^2 X_j^{-2}\right]^2}, i=1, \dots, p.$$

Then in simultaneous estimation of  $\boldsymbol{\beta} = (\beta_1, \dots, \beta_p)$  under the sum of squared errors loss,  $\boldsymbol{\delta}^s(\mathbf{X})$  has uniformly smaller risk than  $\boldsymbol{\delta}^g(\mathbf{X})$  if  $\alpha_i > 1, p \geq 3$  and  $0 < c < 2(p-2)$ .

*Proof:* Let  $D = \sum_{j=1}^p \alpha_j^2(\alpha_j + 1)^2 X_j^{-2}$ . Then the difference of risks of  $\boldsymbol{\delta}^g(\mathbf{X})$  and  $\boldsymbol{\delta}^s(\mathbf{X})$  is given by

$$\begin{aligned} \Delta R = R(\boldsymbol{\delta}^g, \boldsymbol{\beta}) - R(\boldsymbol{\delta}^s, \boldsymbol{\beta}) &= -\sum_{i=1}^p \left\{ E \left[ \frac{2c\alpha_i(\alpha_i - 1)X_i^{-1}}{D} \left( \frac{X_i}{\alpha_i} - t(X_i) - \beta_i \right) \right] \right\} \\ &\quad - \sum_{i=1}^p \left\{ E \left[ \frac{4c\alpha_i^3(\alpha_i + 1)^2 X_i^{-3}}{D^2} \left( \frac{X_i}{\alpha_i} - t(X_i) - \beta_i \right) \right] \right\} \\ &\quad - \sum_{i=1}^p \left\{ E \left[ \frac{4c^2\alpha_i^4(\alpha_i - 1)(\alpha_i + 1)^2 X_i^{-4}}{D^3} + \frac{c^2\alpha_i^2(\alpha_i - 1)^2 X_i^{-2}}{D^2} + \frac{4c^2\alpha_i^6(\alpha_i + 1)^4 X_i^{-6}}{D^4} \right] \right\}. \end{aligned}$$

From the assumptions,

$$\frac{2c\alpha_i(\alpha_i - 1)X_i^{-1}}{D} t(X_i) \geq 0, \quad \frac{4c\alpha_i^3(\alpha_i + 1)^2 X_i^{-3}}{D^2} t(X_i) \geq 0,$$

and by using the identity

$$E \left( \frac{X_i^{-1} \beta_i}{D} \right) = E \left( \frac{1}{(\alpha_i - 1)D} - \frac{2\alpha_i^2(\alpha_i + 1)^2 X_i^{-3} \beta_i}{(\alpha_i - 1)D^2} \right),$$

we get

$$\begin{aligned} \Delta R \geq \sum_{i=1}^p E \left[ \frac{2c}{D} - \frac{4c\alpha_i^2(\alpha_i + 1)^2 X_i^{-2}}{D^2} - \frac{4c^2\alpha_i^4(\alpha_i + 1)^2(\alpha_i - 1)X_i^{-4}}{D^3} - \frac{c^2\alpha_i^2(\alpha_i - 1)^2 X_i^{-2}}{D^2} \right. \\ \left. - \frac{4c^2\alpha_i^6(\alpha_i + 1)^4 X_i^{-6}}{D^4} \right]. \end{aligned}$$

Also from the definition of  $D$  we have

$$\frac{\alpha_i^2(\alpha_i + 1)^2 X_i^{-2}}{D} \leq 1,$$

$$\frac{\alpha_i^4(\alpha_i+1)^2 X_i^{-4}}{D^3} \leq \frac{\alpha_i^2 X_i^{-2}}{D^2},$$

and

$$\frac{\alpha_i^6(\alpha_i+1)^4 X_i^{-6}}{D^4} \leq \frac{\alpha_i^2 X_i^{-2}}{D^2}.$$

Therefore

$$\begin{aligned} \Delta R &\geq E\left(\frac{2pc-4c}{D}\right) - E\left[\frac{c^2}{D^2} \sum_{i=1}^p (4\alpha_i^2(\alpha_i-1) + \alpha_i^2(\alpha_i-1)^2 + 4\alpha_i^2) X_i^{-2}\right] \\ &= E\left(\frac{2pc-4c-c^2}{D}\right) > 0, \end{aligned}$$

provided that  $p \geq 3$  and  $0 < c < 2(p-2)$ .

Q. E. D.

From Theorem 3, in simultaneous estimation of  $\beta_1, \dots, \beta_p$  when constraints  $0 < \beta_i \leq a, i=1, \dots, p$ , are given, the estimator of  $\beta_1, \dots, \beta_p$  whose  $i$ -th component is an admissible estimator of  $\beta_i$  given by (3.1) is inadmissible.

Remark: The sufficient conditions  $p \geq 3$  and  $0 < c < 2(p-2)$ , in Theorem 3 are different from the sufficient conditions,  $p \geq 2$  and  $0 < c < 4(p-1)$  for Stein-type estimator suggested by Berger (1981) when there is no constraint.

**4. Stein-type estimators for the means of independent Poisson distributions when lower bounds for unknown means are given.**

Suppose that  $\mathbf{X}=(X_1, \dots, X_p)$  is a  $p$ -variate random variable, where  $X_i$  is independent Poisson random variable with mean  $\lambda_i$ . This assumption is denoted by  $X_i \sim ind P_0(\lambda_i), i=1, \dots, p$ . From an observation of the random variable  $\mathbf{X}$  it is required to estimate  $\boldsymbol{\lambda}=(\lambda_1, \dots, \lambda_p)$  when constraints  $\lambda_i \geq a, i=1, \dots, p$ , are given. We consider an estimator of  $\boldsymbol{\lambda}$  with  $i$ -th component  $X_i+t(X_i), i=1, \dots, p$ . Then we try to improve it in simultaneous estimation, where  $t(\cdot)$  is a non-negative real valued function. If we put  $t(X_i)=\phi_a(X_i)$  in (1.2) then  $X_i+t(X_i)$  is an admissible estimator of  $\lambda_i$ .

**Theorem 4.** Suppose that  $X_i \sim ind P_0(\lambda_i), i=1, \dots, p$ , and that constraints  $\lambda_i \geq a, i=1, \dots, p$ , are given. Let two estimators  $\boldsymbol{\delta}^P(\mathbf{X})=(\delta_1^P(\mathbf{X}), \dots, \delta_p^P(\mathbf{X}))$  and  $\boldsymbol{\delta}^t(\mathbf{X})=(\delta_1^t(\mathbf{X}), \dots, \delta_p^t(\mathbf{X}))$  of  $\boldsymbol{\lambda}$  be defined by

$$\delta_i^P(\mathbf{X})=X_i+t(X_i), \quad i=1, \dots, p,$$

and

$$\delta_i^t(\mathbf{X})=X_i+t(X_i)-\frac{\Phi(Z)X_i}{Z+p-1}, \quad i=1, \dots, p,$$

where  $Z=\sum_{i=1}^p X_i$  and  $\Phi : [0, \infty) \rightarrow [0, 2(p-1)]$  is non-decreasing and not identically

equal to zero. Then, in simultaneous estimation of  $\lambda$ , under the standerized squared errors loss  $\sum_{i=1}^p \lambda_i^{-1}(\hat{\lambda}_i - \lambda_i)^2$ , where  $\hat{\lambda}_i$  is an estimator of  $\lambda_i, i=1, \dots, p, \mathfrak{d}^t(\mathbf{X})$  has uniformly smaller risk than  $\mathfrak{d}^p(\mathbf{X})$  if  $p \geq 2$ .

*Proof:* The difference of risks of  $\mathfrak{d}^p(\mathbf{X})$  and  $\mathfrak{d}^t(\mathbf{X})$  is given by

$$\begin{aligned} \Delta R &= R(\mathfrak{d}^p, \lambda) - R(\mathfrak{d}^t, \lambda) \\ &= \sum_{i=1}^p \frac{1}{\lambda_i} E \left[ 2(X_i + t(X_i) - \lambda_i) \frac{\Phi(Z)X_i}{Z+p-1} - \frac{\Phi^2(Z)X_i^2}{(Z+p-1)^2} \right]. \end{aligned}$$

From the assumptions, we have

$$t(X_i) \frac{\Phi(Z)X_i}{Z+p-1} \geq 0, \quad i=1, \dots, p,$$

therefore,

$$\Delta R \geq \sum_{i=1}^p \frac{1}{\lambda_i} E \left[ 2(X_i - \lambda_i) \frac{\Phi(Z)X_i}{Z+p-1} - \frac{\Phi^2(Z)X_i^2}{(Z+p-1)^2} \right]. \tag{4.1}$$

if  $p \geq 2$  then from the result of Clevenson and Zidek (1975), the right hand of (4.1) is positive.

Q. E. D.

Although, in Theorem 4, we improved the estimator of  $\lambda, \mathfrak{d}^p(\mathbf{X})$ , when  $p \geq 2$ , in next theorem we will improve  $\mathfrak{d}^p(\mathbf{X})$  when  $p \geq 3$ .

**Theorem 5.** Suppose that  $X_i \sim ind P_0(\lambda_i), i=1, \dots, p$ , and that constraints  $\lambda_i \geq a, i=1, \dots, p$ , are given. Let  $\mathfrak{d}^s(\mathbf{X}) = (\delta_1^s(\mathbf{X}), \dots, \delta_p^s(\mathbf{X}))$  be an estimator of  $\lambda$  defined by

$$\delta_i^s(\mathbf{X}) = X_i + t(X_i) - \frac{c \left( p - \sum_{j=0}^{[a]+1} N_j - 2 \right)^+}{\sum_{j=1}^p h^2(X_j)} h(X_i),$$

where  $h(j)$  is a non-negative function defined by

$$h(j) = \begin{cases} \sum_{n=1}^{j-[a]-1} \frac{1}{[a]+1+n}, & j = [a]+2, \dots, \max_{i=1}^p \{x_i\}, \\ 0, & j = 0, \dots, [a]+1, \end{cases}$$

$b^+ = \max(0, b), [a]$  is the greatest integer less than or equal to  $a$  and  $N_j = \#\{X_i | X_i = j\}$ . If  $p \geq 3$  and  $0 < c < 2$ , then under the sum of squared errors loss  $\mathfrak{d}^s(\mathbf{X})$  has uniformly smaller risk than  $\mathfrak{d}^p(\mathbf{X})$ .

*Proof:* The difference of risks  $\mathfrak{d}^p(\mathbf{X})$  and  $\mathfrak{d}^s(\mathbf{X})$  is given by

$$\Delta R = R(\mathfrak{d}^p, \lambda) - R(\mathfrak{d}^s, \lambda) = \sum_{i=1}^p E \frac{2c(X_i + t(X_i) - \lambda_i) \left( p - \sum_{j=0}^{[a]+1} N_j - 2 \right)^+ h(X_i)}{\sum_{j=1}^p h^2(X_j)}$$



$$-\sum_{i=1}^p E \left[ \frac{ch(X_i) \left( p - \sum_{j=0}^{[a]+1} N_j - 2 \right)^+}{\sum_{j=1}^p h^2(X_j)} \right]^2.$$

From the assumptions,

$$\frac{2ct(X_i) \left( p - \sum_{j=0}^{[a]+1} N_j - 2 \right)^+ h(X_i)}{\sum_{j=1}^p h^2(X_j)} \geq 0, \quad i=1, \dots, p,$$

therefore we have

$$JR \geq \sum_{i=1}^p E \frac{2c(X_i - \lambda_i) h(X_i) \left( p - \sum_{j=0}^{[a]+1} N_j - 2 \right)^+}{\sum_{j=1}^p h^2(X_j)} - \sum_{i=1}^p E \left[ \frac{ch(X_i) \left( p - \sum_{j=0}^{[a]+1} N_j - 2 \right)^+}{\sum_{j=1}^p h^2(X_j)} \right]^2. \tag{4.2}$$

If  $p \geq 3$  and  $0 < c < 2$  then, from the result of Tsui (1978), the right hand of (4.2) is positive.

Q. E. D.

From Theorem 4 and Theorem 5, in simultaneous estimation of  $\lambda$  when constraints  $\lambda_i \geq a, i=1, \dots, p$ , are given, the estimator of  $\lambda$  whose  $i$ -th component is an admissible estimator suggested by Katz is inadmissible.

It should be noticed that in the proofs of all of the above theorems we have not used the constraints on parameters in showing the risk of Stein-type estimator to be smaller than that of the corresponding estimator. This means that Stein-type estimators dominate always the corresponding ones whether the parameters satisfy the constraints or not.

**Acknowledgement.** The author would like to thank Prof. Yasutoshi Washio and Dr. Nobuo Shinozaki for their many criticisms, suggestions and discussions. Thanks are also due to the referee for several helpful suggestions.

**REFERENCE**

[ 1 ] Barlow, R. E., Bartholomew, D. J., Bremner, J. M. and Brunk, H. D. (1972): *Statistical Inference and Order Restrictions; The Theory and Application of Isotonic Regression*, New York; John Wiley and Sons.  
 [ 2 ] Berger, J. (1980): Improving on inadmissible estimator in continuous exponential families with application of simultaneous estimation of gamma scale parameters. *The Annals of Statistics*. Vol. 3, No. 3, 545-571.

## Stein-Type Estimators for Parameters in Truncated Spaces

- [ 3 ] Clevenson, M.L. and Zidek, J. V. (1975): Simultaneous estimation of independent Poisson laws. *Journal of American Statistical Association*, Vol. 70, No. 351, 698-705.
- [ 4 ] James, W and Stein, C. (1961): Estimation with quadratic loss. *Proc. Fourth Berkely Symp. Math. Statist. Probability* 1, 361-379, Univ. of California Press.
- [ 5 ] Katz, M. W. (1961): Admissible and minimax of parameters in truncated spaces. *Ann. Math. Stat.* Vol. 32, 136-142.
- [ 6 ] Kam-Wah Tsui (1978): Simultaneous estimation of several Poisson parameters under squared error loss. *Technical Report No. 37. University of California, Riverside.*
- [ 7 ] Yuan-Tsung Chang (1981): Stein-type estimators for parameters restricted by linear inequalities. *Keio Science and Technology Reports*. Vol. 34, No. 5, 83-95.